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0.319, 3.019, 0.391,

9.103

@ 9.103, 0.391, 3.019, 0.319
® 9.103, 0.391, 0.319, 3.019
® 9.103, 3.019, 0.319, 0.391
@9.103, 3.019, 0.391, 0.319

® 0.319, 0.391, 3.019, 9.103
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D (1) 2.058 (2) 0.248 @(1) 2.058 (2) 0.239
® (1) 2.058 (2) 0.139 @ (1) 2.067 (2) 0.248

® (1) 2.067 (2) 0.239

~&B

(1) oJ¥ F=HE} 0.001 2 &+ 25 AR A =271 A-Y
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whabA 2.057 + 0.001 = 2.058 YUtk

(2) oJH =X} 0.01 22 &= &5 4 A 271 2opy
yrt,

whba] 0.249 - 0.01 = 0.239 Yt}
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® (1) 0.9 (2) 0.33 @ (1) 0.1(2) 0.33
@) 01 (2) 043

(1) 0.88—0.78 = 0.1
(2) 0.61 —0.18 = 0.43
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43. : Qhel] Fob 5 HREA & RS D2AQ
) 605 cm = Dm
(2) 3km 350m =| |km
® (1) 605 (2) 3350 @ (1) 6.05 (2) 3.035
@) 6.05 (2) 3.35 @ (1) 6.5 (2) 3.305

® (1) 6.5 (2) 3.35

B

100cm = 1m,1000m = lcm ]2 2 lcm = ﬁ
ﬁkm oftt.

(1) 605cm = % m = 6.05m

(2) 3km350m = 3350m = % km = 3.35 km




4.1 4,2 ] 4.3

® 4.13, 4.25 (@)4.13, 4.26 ® 4.14, 4.25
@ 4.14, 4.26 ® 4.14, 4.27
FAANA &L 7 T2 0.1 10685 A F stio|ln=z
0.01 ¥Yrtt.

ARA [ 41004 Fe B 37HS A 9430 glem
2 4.130]1
SR [ 42004 2 EF 63HS A 9H o] glen
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7} o7t Aol Al $-94 BE 9 LU

L

= 0.63 + 0.48
=1.11(L)

(PN HAL S-5-2] )+ (AN uhal $-69]




(1) 6.004 - 5.15

(2) 17.457 — 4.163

@ (1) 0.841 (2) 13.284
® (1) 0.851 (2) 13.284

® (1) 0.854 (2) 13.284

@ (1) 0.844 (2) 13.294
@(1) 0.854 (2) 13.294

(1) 6.004 — 5.15 = 0.854

(2) 17.457 — 4.163 = 13.294
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4.58 -2.9305.19-3.77

4.58 —2.93 = 1.65
5.19 — 3.77 = 1.42
whebA] 4.58 - 2.93 > 5.19 - 3.77
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wrebA 7 2 A4 T2 4= 65.430|th




50.

the &5 FoIA b 2 ok Y e 0 &

.
=

T34 2

4.28 294 429 2.89

\VARR 4
0
i

7.18
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52. Al 259 SAE HHEA AR RS TEAS.

(1) 6.888 + 4.721 + 3.019
(2) 11.809 + 7.89 + 1.666

@ (1) 14.617 (2) 21.364 @ (1) 14.627 (2) 21.365
@(1) 14.628 (2) 21.365 @ (1) 14.628 (2) 21.466

® (1) 14.628 (2) 21.478

(1) 6.888 +4.721 + 3.019 = 11.609 + 3.019 = 14.628
(2) 11.809 + 7.89 + 1.666 = 19.699 + 1.666 = 21.365




| Z2] & Sl 71 A2

0.31

0.137 4 0.173 = 0.31
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> =g 20
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A A A 110-1=9,@=9

A2 EAAY 2-1410-0=4,0=7
AL AR A @-1+10-5=5 =1
dol A 16-1- ©=2,0=3
O+O0+0+@=14+3+74+9=20
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(29 A =2h)+ (25 AA 242 =2h)=8
(B9 A 2= (4 AA A 2= 4
- 244 |
s
(A &g =2 + (&4 B4 A8 22h)=7
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(30 & B3t & x9] AoJ)

=42 -35.7 = 6.3(cm) = 63(mm)
(10 & St & x9] Zo]
=63+ 3 =21(mm)
wrabA 2= 100 & 59t
210(mm) = 21(cm) S EF2L,

~—

200 2=3 A7t 20 &
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(

(7H+ thH=10.1

H W+ (- th+ O+ o)
= (7H+ Y+ thH+ 7+ Y+ o
=8.6+13.3+10.1 = 32

(7 U+ thH=32+2 =16
7t= (O W+ Bh- (U+ o)
=16-133=27

U= 7+ W+ th- P+ o)
=16-10.1=5.9

= (PH v+ - O+ )
=16-86=74

V& & 4= th=740|th

7t =86, (44 thH=133,




